Encrypt/Decrypt Homework
In this homework you need to create two programs to encrypt and decrypt text:
· Program 1: ShiftEncrypt – encrypts a String using the “shift” method. The program should ask for a (plain text) String and an integer, then print out the encrypted String.
· Program 2: ShiftDecryt – decrypts a String using the “shift” method. The program should ask for a (encrypted) String  and an integer, then print out the decrypted plain text String
You receive optional credit for cracking a coded message that I will send you via email. This portion is completely optional. You will need to submit two source code files, plus the optional cracked message you received via email.
“Shift” Encryption

Shift encryption works by shifting each character in the alphabet forward by x positions. A possible algorithm might be:

· start with an empty new String

· pick first character of the input string

· shift that character by x positions forward
· append shifted character to the new String

· pick next character and repeat until all characters are shifted

This algorithm relies on a method to shift one character. A possible algorithm for that might be:

· convert character to its ASCII integer code (via type casting)

· add amount to shift to that integer

· convert the new integer back to a char (via type casting)

This method needs to take care off “roll-over”, where letters are shifted in a circular fashion. For example, if you shift by 3 positions, “wxyz” should be shifted to “zabc”.
“Shift” Decryption

To decrypt a message that was coded by shifting forward by x positions, you simply shift it again by –x positions. If coded right, the same methods to encrypt a message using x as input will automatically decrypt it when you use –x as input. Note that you need to correctly handle “roll-over” backwards.
